(™ Comnect — N Radicals

4.3 Mixed and Entire Radicals

Multiplication Property of Radicals

“ab ="a-"b,
where n is a natural number, and a and b are real numbers

SJ‘D =’Ja . & ov 3 o o 'Jlo .rVI:"Jl.
We can use this property to simplify square roots and cube

roots that are not perfect squares or perfect cubes, but
have factors that are perfect squares or perfect cubes.
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Example 4:
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Radicals
STEPS:

Find the factors of 24. If oneis
a perfect cube use it.

Rewrite 24 as a product of two
factors, one which is the perfect

cube

Solve
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Example 5:
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Example 6:
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Radicals
STEPS:

Find the factors of 144. If one
is a perfect cube use it.

Continue to break the factors
down using prime factorization.

the same

Solve

Group the prime factors that are
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Radicals
STEPS:

Find the factors of 80. If oneis
a perfect square use it.

Continue to break the factors
down using prime factorization.

Group the prime factors that are
the same

Solve
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Example 7:
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38\-7.
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Radicals
STEPS:

Find the factors of 162. Look
for factors that appear 4 times.

Continue to break the factors
down using prime factorization.

Group the prime factors that are
the same

Solve

Jan 30-4:17 PM




[_comact IS

Radicals
Example 8:
To write a radical of index "n" in simplest form, we write

the radicand as a product of 2 factors, one of which is the
greatest perfect "nth" power.
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lo\ff is in simplest form because of radical contains ho
perfect square factors other than 1.
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[ practice N HOMEWORK!

Textbook Questions:

Page 218 # 10,11,12,14,17,18
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